
*8-3=                     7-3=
*5-4=                     6-4=
*4-1=
*Килеп чыккан җавапларны 
үсə бару тəртибендə тезəргə.

*1=К,  3=З, 2=А,4=А, 5=Н.

 



*8-3=5                   7-3=
*5-4=                     6-4=
*4-1=
*Килеп чыккан җавапларны 
үсə бару тəртибендə тезəргə.

*1=К,  3=З, 2=А,4=А, 5=Н.



*8-3=5                   7-3=
*5-4=1                   6-4=
*4-1=
*Килеп чыккан җавапларны 
үсə бару тəртибендə тезəргə.

*1=К,  3=З, 2=А,4=А, 5=Н.



*8-3=5                   7-3=
*5-4=1                   6-4=
*4-1=3
*Килеп чыккан җавапларны 
үсə бару тəртибендə тезəргə.

*1=К,  3=З, 2=А,4=А, 5=Н.



*8-3=5                   7-3=4
*5-4=1                   6-4=
*4-1=3
*Килеп чыккан җавапларны 
үсə бару тəртибендə тезəргə.

*1=К,  3=З, 2=А,4=А, 5=Н.



*8-3=5                   7-3=4
*5-4=1                   6-4=2
*4-1=3
*Килеп чыккан җавапларны 
үсə бару тəртибендə тезəргə.

*1=К,  3=З, 2=А,4=А, 5=Н.



*1,    2,   3,  4,   5.
*К     А    З   А    Н



Казан шəһəренə сəяхəт



35бит,№6



4



4   -   3  =   1



4    -    3  =   1
Кимүче      Киметүче        Аерма





4+1=8-4= 9-7=6+2=



8-4=4 9-7=2

















15 
февраль









Күзлəремне буя

9 - 9 =



Борынымны 
буя.

2 + 2 =



Минем 
авызымны буя

10 - 5 =



Колакларымны 
буя

2 + 0 =



Тунымны буя.

4 - 3 =



Күкне буя.

 7 + 2 =



Матур булды.

5-3=



Матур булды.

5-3=2



5+3=8     7-0=7
 3-1=2      0+3=3
7-2=5      5-5=0


